Name: Two and three digit addition

Three digit addition

1) 928 +903 = 11) 762 + 419 =
2) 504 +371 = 12) 890 + 557 =
3) 267 +292 = 13) 939 + 230 =
4) 421 + 890 = 14) 714 + 634 =
5 430+ 333 = 15) 825 + 422 =
6) 857 + 303 = 16) 854 + 383 =
7) 411 + 965 = 17) 785 + 121 =
8) 350+ 773 = 18) 788 + 702 =
9) 614 +573 = 19) 327 + 412 =
10) 946 + 305 = 20) 706 + 549 =

Answers, fold under: Mark your work when you have finished.

1) 1831 6) 1160 11) 1181 16) 1237
2) 875 7) 1376 12) 1447 17) 906
3) 559 8) 1123 13) 1169 18) 1490
4) 1311 9) 1187 14) 1348 19) 739
5) 763 10) 1251 15) 1247 20) 1255
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